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(b) Calculate the following variances for the period March 2018.

(i) Material price
(2)

"DONOTWRITEINTHISAREA = = =

(ii) Material usage

SO NOTWRITEINTHIS AREA.

(iii) Labour rate

. DONOTWRITEINTHISAREA =~ =
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(c) Suggest one possible reason that may explain the:

(i) material usage variance
(1)

(ii) labour rate variance.

DONOTWRITEINTHISAREA

(Total for Question 1 = 18 marks)
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(b) Calculate the break-even point in:

(i) units
(2)

(ii) revenue.

(c) Calculate the sales revenue required for the business to make a profit of
$131 000 per month.
(3)
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The current supplier of Material GX10 has offered a 2.5% discount if Metis increases
the size of its orders to 60 000 kg.

(c) Complete the table to show the costs if Metis were to order in quantities of
20 000 kg and 60 000 kg.
(6)

Costs 20 000 kg 60 000 kg

Purchasing

Ordering

Holding

Total

Workings

(d) Advise Metis as to which order size it should use. Give one reason for your answer.
(2)

J
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S 3 (i) Advise Metis if the insurance policy covers both order quantities.

system.
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(Total for Question 3 = 24 marks)
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(b) Calculate the contribution per kg of materials made by each of the three
products.
(5)

(c) Calculate the production schedule that will maximise the monthly profit made by
Himalia for April 2018
(3)
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(e) Evaluate whether Himalia should apply the product mix recommended in (c).

(Total for Question 4 = 18 marks)
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N
(iv) production volume ratio.
(2)
Pasiphae also manufactures Product E20. At the start of March 2018, the opening
work-in-progress and the costs incurred during March 2018 were:
Opening Costs incurred
work-in-progress during month
Materials $2 600 $13720
Labour and overheads $4 100 $7 450
The output produced during March 2018 was as follows:
Materials 2 700 completed units that were sent to customers plus
1 000 units that were 50% complete
Labour and overheads 2 700 completed units that were sent to customers plus
1 000 units that were 30% complete.
(b) Calculate the cost of:
(i) Product E20 that was sent to customers
(4)
y,
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(Total for Question 5 = 20 marks)

TOTAL FOR PAPER = 100 MARKS
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